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& 000 |* 170 | 3150 | 3320 | 3320 | st DN 400
~ EE /
:% 708 _istn. wod. @90 Ro=31.30 /
o
d(g 7.08 # 1,65 | 31,25 [ 32,90 | 32,90 | st. bet. DN 1000 s {
]
P.p.21,00 m
& 0.00 1.60 | 31.15 | 32.75 | 32.75 st. DN 400
[eY) fg,f;; istn_kabel energ NN @20 Ra=3175 []
/ 5,68 istn._gaz. @63 Ro=31,75 I] -
5,68 26% 1,75 13100 | 3275 | 3275 | st. bet. DN 1000 i
P.p.21,00 m
ﬁ 0.00 2.00 | 30.80 | 32.80 | 32.80 st. DN 400
) PVC_T
160x4,7
/ 5,57
5,57 5.4 % 2,05 | 30,50 | 32,55 | 32,55 | st. bet. DN 1000
P.p.21,00 m
0.00 bve T 1.60 | 31.40 | 33.00 | 33.00 st. DN 400
1?/ 458 istn_kahel energ NN 020 Ro=32 25 ’IJI/_‘
458 229 1,90 | 31,30 | 3320 | 3300 | -Sio-gaz of3 Bo=3223 !
(st. bet. DN 1000)
P.p.21,00 m
0.00 1.70 | 31.80 | 33.50 | 33.50 st. DN 400
23
:7 E
D w
IN ~
8,37 G 1,60 | 31,60 | 33,20 | 33,20 | st. bet. DN 1000
P.p.21,00 m
0.00 Ve T 1.96 | 30.84 | 32.80 | 32.80 st. DN 400
160x4,7 ”
/ 5,56 istn_wod @90 Ro=3180
5,56 1.6 %) 2,45 | 30,75 | 33,20 | 33,20 | (st. bet. DN 1000) J I \
0.00 41.60 | 41.60 korek PVC DN 160
25 1,60 | 40,00 _istn._kabel energ. NN 20 Ro=40,30 /i
c_"; istn. kabel energ. NN @20 Ro=40,30
5~ 7,31
7,31 # 1,80 | 3950 | 4130 | 41,30 | (st. bet. DN 1000)
0.00 4130 | 4130  korek PVC DN 160
PVC_T 1,70 | 39,60 istn. kabel energ. NN 20 Bo=40.30
160 413 “istn. kabel energ. NN @20 Ro=40.30
413 2.4 %] 1,80 | 39,50 | 41,30 | 41,30
(st. bet. DN 7000)
§ 0.00 40.80 | 40.80 korek PVC DN 160
w 25 1,80 | 39,00 istn_kabel energ. NN @20 Ro=39 80 /]
o istn_kabel energ NN @20 Ro=39 80 /. —
E . 632
2
6,32 & 2,10 | 38,60 | 40,70 | 40,70 | st. bet. DN 1000
0.00 40.80 | 40.80 korek PVC DN 160
PVC T 1,80 | 39,00 _istn. kabel energ. NN @20 Ro=39,80 %‘
160x 4,20 i me NN @20 Ro=39 80 V/
420 9.5% 210 | 38,60 | 4070 | 4070 | stet 0
{ 0.00 138 | 3872 | 4010 | 4010 st DN 400
“ 38 -
S w© istn_wod 90 Ro=3830
z ©
7.99 G 2,10 | 38,60 | 40,70 | 40,70 | st. bet. DN 1000
P.p. 28,00 m
§ 0.00 4410 | 4410 korek PVC DN 160
[&)] 23 1,70 | 42,40 istn_kabel energ. NN @20 Ra=43.10
O %
VR
a N
7,62 S 1,90 | 4200 | 4390 | 43,90 | st. bet. DN 1000
P.p. 28,00 m
@ 0.00 155 | 4215 | 4370 | 4370 st DN 400
o PVC_T
1% 5,25 istn wod 90 Ro=4160
5,25 2,9 %) 1,90 | 42,00 | 43,90 | 43,90 | st. bet. DN 1000
P.p. 28,00 m
0.00 1.70 | 41.90 | 43.60 | 43.60 st. DN 400
PVC_T
‘V 5,44 //
5,44 55 % 2,00 | 41,60 | 43,60 | 43,60 | tréjnik 200/160/200
P.p. 28,00 m
0.00 43.40 | 43.40 korek PVC DN 160
';’g’o(i,T 385 1,70 | 41,70 istn_kabel energ. NN @20 Ro=42 40
3,85 52% 1,85 | 41,50 | 43,35 | 43,35 | st. bet. DN 1000
P.p. 28,00 m
g 0.00 1.80 | 41.60 | 43.40 | 43.40 st. DN 400
® 603,
/ o // /
521 3.8 % 1,80 | 41,40 | 4320 | 4320 | st. bet. DN 1000
P.p. 28,00 m
0.00 160 | 4160 | 4320 | 4320 st DN 400
oo istn_kahel energ NN 20 Ro=42 20 /]
/ 5,19 iSin gaz 063 Bo=42 20
519 4.4 %] 1,83 | 41,37 | 43,20 | 43,20 | st. bet. DN 1000
P.p. 28,00 m
§ 0.00 42.30 | 42.30 korek PVC DN 160
© fg’é:{ 2,20 | 40,10
/"/ 5,12
512 2,0 % 2,30 | 40,00 | 42,30 | 42,30 | st. bet. DN 1000 =




